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2021 (b) Type I error is related to rejection of
a true hypothesis.
ECONOMICS (Write Correct or Incorrect)
YA {9 Fo O SREIE A oIS
Paper : ECO-HC-4036 TR |

. (W o1 oreg fer2)
( Introductory Econometrics )

(c) When is an estimator said to be

( Honours Course ) unbiased?
e (afEcta) «b @ faers e @[
Full Marks : 80 ?
Time : 3 hours (d) Define R?.
R?3 gl f |

The figures in the margin indicate full marks

for the questions (e) When the variance of the disturbance

term is not constant, the problem
is known as the problem of
heteroscedasticity /multicolinearity.

Answer either in English or in Assamese

GROUP—A (Choose the correct answer)
frst—= e
. . SCH!  feafasorer/qetafiwer  fapict @
1. Answer the following as directed : 1x6=6 T |
woTe WPTRs o S Teq fra
(wm Teach AR Sferean)
(a) Is normal distribution a distribution
of discrete random variable? (f/ What is specification error?
Ao 7% fifven Afoes 5o A% =0T 2 frEeae @fb f 2
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(3) (4)

2. Answer the following questions : 2x5=10 (b) Mention the assumptions of ordinary
eI 2PpTEe T fid least squares (OLS).
(a) Mention two limitations of ;T;N‘-‘f PTe Ol (OLS) S s
t-distribution. ARall
t-3+T 01 TRl Teard 1 | (c) Explain two tests to detect serial
(b) What is null hypothesis? correlation.
0 SR 5 2 e s foare w1 ghr AR e
BN
(c) Why is the disturbance term u added
in econometric models? (d) Explain the causes of multicolinearity.
wieffifieq enfEze feacds o u i col a1
|
=09 ERIRIREAOT IR AT 1
(d) Mention two causes of hetero- (e) For a K-variable model Y = Xp +u, show
scedasticity. that f = (X'X)"1 XY.
FRIBETOR 751 P Tl 1 | K-5o/q B O Y = XB +u e, (vl
0 ’ —1 4
(e) What is a dummy variable? AB=(X'X) " XY.
TIfy v 5 2

(f/’ How does specification error arise
when a relevant variable is omitted?

3. Answer any four from the following Gi '
ive example.

questions : 6x4=24
oo 2PPTRd “I91 R ieeT! SRR T ford APiferRs bore 9Bt A e e e @
Teq 23 7 Twrzad |

(a) Mention any six properties of normal
distribution.

FIeIR IBa & et =61 & Seamd 4 |
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(S) (6)

GROUP—B (e) How is heteroscedasticity detected?
froe—xl What are the remedial measures of
heteroscedasticity? Discuss. 6+4=10
4. Answer any four from the following ffasferel fomey fore w41 212 Kawfofrels
questions : 10x4=40 ARSI PR F 6 2 e 54 |

ST 2P 2[R (I BIRR Tee fordl

(f) Discuss the tests of specification errors. 10

(@ Yi=bo+bX,+u,. Find the OLS frfigra @fba ~RmerTge S < |
estimator b; and show that it is
unbiased. 10 -

Y, = by + b, X, +u,. OLS S b, Tfere
o (TS (@ B e |
(b) Discuss the framework of a multiple

linear regression model. Explain the
properties of OLS estimators. 5+5=10

IPASR (AR R WE @b AR
S 91 | OLS Sperard 472 1<y 1 |

(c) Discuss the wuses of t-distribution,

F-distribution and chi-squared
distribution. 10
t-3%4, F-3% SF F2-"HCaq IBq A2
SCETOAT 4T |

(d) Is multicolinearity really a problem?
Discuss. 10

2RO 2AFOCS GBI T ? TG F47 |
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